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Paper 1- Opening Paragraph and Outline 


It goes without saying that the world in which we currently live is extremely different from that of the past; technology is increasing at a rapid rate, human population is at an all time high, and we rely much more heavily upon fossil fuels (i.e. oil, coal). However, in response to L.P. Hartley’s opening line of the novel The Go-Between, author Jared Diamond would disagree with the claim that “the past is a foreign country; they do things differently there”. While it is true that the specific problems of the ancient world differ from that of the present world, there are many connections that can be made between the two, and if we observe what past societies did “wrong”, we could very well prevent our current society from a collapse. History can repeat itself; the past holds vital information because it teaches us the potential consequences of certain actions. If we choose to ignore the past, our society will collapse, regardless of the many advancements we have made.


In order to make connections between past and present societal issues, we must first understand the mistakes of the past. An example presented to us in Diamond’s Collapse was the collapse of Easter Island, a Polynesian island that runs 66 square miles with an elevation of 
1,670 miles. By  A.D. 1200, the island was home to somewhere between 6,000 to 30,000 people, but by 1872, there were only 111 islanders remaining and the once agriculturally advanced island was completely deforested. So what happened? How did such a 
resourceful, society ultimately fail? One of the main reasons why Easter Island’s society collapsed was that it “overexploit[ed] its own resources.”
 As the island’s population grew in the 18th century, its inhabitants continuously chopped down the trees until there were virtually none left. The people of Easter Island acted impulsively, using limited resources immediately without considering future consequences. 
Another example of collapse is the fall of the Pitcairn and Henderson islands, which was caused by a disruption in trade. These southeastern Polynesian islands were settled around A.D. 800 had very limited resources on their own, but exchanges of raw materials, manufactured items, and luxuries between the two led to prosperity from A.D. 1000 to 1450. However, there is evidence that environmental damage in those areas led to “social and political chaos”
 and trade came to a permanent end. Ultimately, all inhabitants of the Pitcairn and Henderson islands died. The collapse of these islands stresses the importance of environmental stability and makes clear the consequences of abusing our natural resources.


Environmental issues are as significant today as they were in the past. There are many problems and shortcomings regarding the way we treat our environment, but we will look at just a few examples. The destruction of natural habitats (i.e. forests, wetlands, coral reefs) are rapidly being replaced by human-made habitats (cities, villages, roads), causing major deforestation and loss of coral reefs
. In addition to this, chemica
l industries are polluting the environment by releasing toxic chemicals into the air, soil, and all bodies of water. We encounter many of these toxic chemicals daily; they are in plastic, pesticides, our food, and even in the air we breathe. As a result, deaths in the U.S. alone due to air pollution are over 130,000 people. Transferring “alien species” from one country to another has led to environmental turmoil and a decrease in various animal populations. This means that when we bring populations of an animal to a new country, native species within that country are unable to defend themselves from the new species because they’ve never encountered them before. Lastly, human activities produce gases that destroy the ozone layer, causing global w
arming. All of these aforementioned issues have been created by humans, and in order to prevent a collapse in society, we must apply what we learned from the collapses of the past to these current problems and prevent repetition.


There are a few connections that we can make between the past and the present. The Pitcairn, Henderson, and Easter Islands were all overpopulated when their societies began to collapse, and the world today is clearly overpopulated as well. Overpopulation in the past led to the exploitation of resources, because resources such as food and wood were needed in order to keep the growing population alive. Environmental stress and overpopulation within a society put that society at risk of becoming politically unstable, and their governments may collapse as a result. A combination of a collapsed government, environmental stress, and overpopulation is a recipe for disaster, and the current society we live in certainly has the potential to possess this fatal combination of societal problems. The collapse of the Pi
tcairn and Henderson islands also applies to our current society because it depicts the consequences of trading with an environmentally damaged trade partner. We must choose our trading partners with extreme caution because trading with unstable societies can be unreliable and will ultimately harm our own society. If societies of the past had observed the environmental and political pressure of the past, they could have predicted their own collapses and prevented them. We, too, have this opportunity, and we cannot take it for granted.


Many people assume that because we are so much more technologically advanced today than we were hundreds of years ago, the problems that we have today can be solved because we have resources today that we did not have in the past. However, we cannot rely on technology to solve environmental problems because they are too expensive and sometimes lead to even more environmental problems.  In the long run, it would be cheaper for us to take preventative measures, suc
h as turning off lights when we’re not in the room or taking shorter showers, than it would be to try and clean up the damage that has already been done. Cleaning up damages can cost billions of dollars, and not every society can afford to spend so much. Also, new technology gives us the ability to do more things, which can harm the environment just as much as it helps it. For example, many toxic chemicals are used to create modern technology, like cars, airplanes, televisions, and computers. New technology creates new problems. Another consequence of ignoring the past is an increase in poverty. Currently, 80% of the world’s population is living in poverty. The problem is that people in First World countries get to consume a greater per-capita amount of food, while many people living in 
Third World countries aren’t able to consume any food at all. If we are unable to find a way to feed the entire population in a more equal way, poverty will continue to escalate. Ultimately, if we do not change our ways and repeat the mistakes of our past, collapse is inevitable.


In order to avoid economical and political collapse, we must take on active attitude, rather than a pessimistic or passive one. There are 3 main things we can do: Think in the perspective of the long-term and become perceptive of problems before they reach a point of no return, have the courage to make difficult decisions regarding values, and reevaluate traditional consumer values and the above-average living standards of First World countries. These are obviously not easy to achieve, and it will take a great amount of strength and unity within our society in order for it to work, but they are not impossible. The collapses of the past can teach us what not to do and observing those mistakes will help us increase our ability to perceive problems before they happen. First World countries also need to understand that their living standards are extremely high in comparison to third world countries, and that in order to see a more balanced, efficient world, 
sacrifices on their part are necessary. This doesn’t mean there needs to be a complete lifestyle overhaul, but First World countries should make small changes, such as less oil consumption and gas emission, in order to have less of a negative impact on the economy.


What Jared Diamond stresses most of all in Collapse is that societal failure won’t occur if we observe what was done in the past and apply it to our current problems. The most serious environmental problems that we face today are human made, and can therefore be reversed. We have the resources, we know what the factors that have repeatedly led to collapses in the past, and we understand the consequences of our actions; we need to stop being so 
reactionary and proactively prevent environmental and economical problems from happening in the first place. The past is not a foreign country; in fact, it is a means of unifying the world today because all countries can be positively affected by taking note of how different societies failed and succeeded.

�	 Diamond, Jared. Collapse


�	 Ibid





�I believe this should be a maximum elevation of 1670 feet, not 1670 miles(!)


�By “resourceful” do you mean that the people were resourceful (clever, able to solve problems, and so forth)?  Diamond makes the point that Easter Island's society was fragile because of the relative scarcity of some natural resources.  So it would not be correct to say that they had everything they needed in abundance.  Also, there should not be a comma after that word here.  


�This is a natural spot for a new paragraph.  


�This sentence is somewhat confused.  It is not the “destruction of natural habitats” that is being replaced by human settlements.  It's those natural habitats that are being replaced.  


�You could delete the “chemical” here – almost all industries pollute to some extent.  


�Destruction of the ozone layer means that more harmful solar UV radiation reaches the surface of the Earth.  That is bad for many living organisms (including humans.)  But the major influence on climate comes from higher levels of other “greenhouse” gases like carbon dioxide. They keep solar radiation from reflecting back out into space.


 


�I don't think that that was the lesson that Diamond meant to get across with this example.  I think his  point was that it is dangerous to put yourself into a situation where your own survival is totally dependent on trade links that can be broken.





�While conservation measures such as these are important, one can still ask whether they will be enough to solve our environmental problems.


�This is an overstatement.  The issue in most cases is undernourishment, not total starvation.


�Necessary for what?  For fairness?  For survival?  This statement is somewhat vague as it is.  


�The official meaning of this word is somewhat different from what you seem to think it is.  (It does not mean “acting only in reaction.”)  I know some people it use it that way now, but that is not really correct.  


�Lucia,  this is a reasonably good summary of the main points from Collapse.  Your writing is also quite good. 





The major place I can see room for improvement is in how you identify the sources of and support the points you are making.  Although you might agree with a lot of these points personally, you are also restating Diamond's own opinions in almost all of this.  You haven't exactly made this clear except by referring to Diamond in the first and last paragraphs.  Saying more specifically exactly what you are taking from Diamond (and whether there are points where you disagree) would be preferable.    Also,  a few well-chosen quotations from the text would be a good addition to what you did here.  
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